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1.( ) People can see koalas and kangaroos in Australia.
Australia W=EBZ . (A) EBi#A]  (B)4AEE  (C) BN (D) E=Fa &

2.( ) Thetemperature tomorrow will reach 30°C. Remember to wear sun cream and
drink more water.

temperature WEEZE : (A) RE (B) BE O B8E D) EE

3.( ) Tears drop from her eyes when she hears the sad news.
tear WEEZ : (A) BEE (B) X EE Ok (D) BRIR

4.( ) Benand Tim look alike because they are brothers.
alike WEBZ : (A) f8fERY (B)EEW (O EFEM (D) EEW

5.( ) Iwill have an important interview next week so | have to buy some formal wear.

formal WEEZ : (A) KB (B)HERW (O EXR (D) BEFERY

6.( ) The weather is getting colder. Many people wear scarfs around their necks.
scarf NEREZE : (A) B (B) I5#% (O O= (D) FEIR

7.( ) Christmas is on December 25%,

December WEEBZE : (A) TH (B) +—H (O+H (D) —H

8.( ) His fatheris 60 years old, but there is no silver hair on his head.

silver WEBZ : (A) REW  (B) B (Q) ZlEpy (D) FTTHY

9.( ) This sofais big and soft enough. It's cozy and comfortable for me.
cozy HERBZ : (A) AZEW (B)&FEW (O)BEM (D) RBEMW

10.( ) Peteris 20. He is an adult, not a kid.
adult WEREZ : (A) BB (B) Ef#EEE (C) KA (D) EZE



